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V = 128.3 x 0.12 = 15.4

W =154 x 2.35t/m3 = 36.2 t

= 6.50 x 18.506 - 0.22 x 0.22 x 4 =

BN 47 (SR 6 15) L = ( 18475 - 022 x 2 ) x 2 = 361
| 1o0m&fYy L =361/ 120.1 x 100 = 30.1 m BA%E+0.05

= 37.0 / 120.1 x 100 = 30.8 m mAZE+0.05

R R EB L =73 + 1.5 + 82 + 23 = 19.3 m
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RIE

t=bcm

A

- i ® =

= 10.7 + 17.8 = 28.5

V =285 x 005 = 1.4

V =

1.4

W= 14 x23t/m = 3.3 t

HEmE

HEmE

BT

BT

A

A

A

A

= 6.50 x 18.506 - 0.22 x 0.22 x 4 =

= 6.50 x 18.506 - 0.22 x 0.22 x 4 =

= 10.7 + 17.8 =

= 10.7 + 17.8 =
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AT T
V = 330 (T TR & Y)
V = 534 (R FTREY)

BRKIEER T
Heok #t
ek #t (#1445 )

Eft&ER SUSK Wb - Fyb
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= 3.47 x 0.05 = 0.174 (RRIRFEEIREY)

2 = 0.23 x 0.03 = 0.007 (FERIMEIRA/2)&Y)

V3 = (002 + 002 ) x 0.05 = 0.002 (FERIMHEIR(2/2) &Y)

4 = ( 0.63 + 0.25 + 0.02 + 0.16 ) x 0.03 = 0.032 (FERIMETIR (2/2) & Y)

V= 0174 + 0007 + 0002 + 0032 = 022 m3

0.22 x 1.18 = 0.260 m3  ##naZEEFLEHE #MHozzE: 1,18

FEHET | M= s
S A= 109.99 + 1612 + 7.69 + 8.25 -
| AT = 109.99 (FREEAIETREY)
| A2 =711 x 2+ 09 x 2= 1612 (HERBEIEEY)
| A3=116+056 + 031 + 566 = 7.69 (FERTHIEE(1/2) £ Y)

A4 =181 + 1.24 + 520 = 8.25 (FRRTMIER (2/2) £ V)
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BRMER A = THIE (REER) &L =
BT N

EEIIIFEET Z V= 0007 + 0006 = 0.013

V1= 0004 + 0003 = 0.007 (FEIMAHER0/2)&Y)

| v2= 000 + 0002 = 0006 (FERTHERQ/2) & Y)

MEELETFT

A= 0.30 x 0.54 x 4
B A= (030 + 054 ) x 2 x 4
291~ hEI L
E73:71

HtRENT" VT Uh-

142.1 m2
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BREET

EubEd A =205+ 13.7 + 37.2 + 0.7 + 49.6 + 0.5 = 122.2 m2

PhE T i A = FtRELFL 122.2 m2

TZ#Y A = BtRELFL 122.2 m2

&Y A = RFFEELREL 122.2 m2
7 IANVEBEY-H A = 7.26 x 19.175 = 139.2 m2
F#7(G1, G2) 13.7 + 0.8 + 0.09 + 0.2 + 0.4 + 1.1 + 1.6 + 1.0 + 0.4 + 0.2 + 0.09

+ 0.9 = 20.5

A5 =1(02 - 0011 ) x 164 / 2 x 2 = 04
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 Emes| Ao (om- oon c0w - oo xaw /2 2x2- 1 |

| A7T=(03- 001) x52/2x2= 16 R

 mEm| as- 0w - oon c0m- oo maw /2 /om0 |

| A9 =(02- 001) x17/2x2-= 04

A10=( 025 - 0011 + 02 - 0011 ) x 079 /2 /2x2= 02

| A1l =0( 02 - 0011 ) x 049 /2 x 2 =009

A12 =003 x15x 2 = 0.9

S A= 22 + 1.9 + 40 + 56 = 137

 wrE | A1 -(om oo xim2mz-22 |

 im | M2-Com-oo) mews2mz-to |

| FHWTE | A3 =0Wx6@x2=40
917° A4 =039 x 7.23x 2 = 56 R

S A= 67 + 58 + 60 + 169 + 1.8 = 37.2 -

£730y TE A1 =( 03 -1001) x 7.23 x 3 = 6.7
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 yrm | A2-Com-oo) xewmo-ss | |
e | As-omsemxa-eo |
917" A4 =039 x 7.23x2x 3 =169 R

| BA®RRGEES | A5 = 057 x 3= 18  GEE-REREEIESY) [
b0t x4 - 0 s - £RRTEEY) R
fere S A= 70 + 7.0 + 7.3 + 265 + 1.8 = 49.6 R

Gl

 wTm | A1 (oo koo comx2) xe-0 |
 wrm | A2-((ox-oo) s oes comx2) xs-20 |
 wTE | As-(onk oms cowmo) xo-2a |

917’ A4 =039 x 4253 x 2 x 8 = 26.5 R
 wmmmm | As-onsoxs-is  emesrasy |
=012 x 4 = 0.5 (HAERTEEY) R
1 o R
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PKEEMRHET

(EETIE+E U))

V = AHERALERL

V = AHERALERL

W= 02 x 23 t/m = 05 t

V=(C 03 + 03 ) x 34 x 2 x 0.081 x 2 (#&ITHV9)-H

V = BEkER L

W= 07 x 250t/m = 1.8 t

W =005 + 0.05

122.2 x 0.39 kg/m2 x 0.001 t/kg 0.05 t (IBZEFEE  0.3%e/m2 87%E)

122.2 x 0.45 kg/m2 x 0.001 t/kg 0.05 t (BRAEIMBEMEEE 0. 45kg/m2 287E)

BIBH 4 BN (IBBIE K - BHEIH BEH) W = BRIGHAERER - EA - FrEERELC = 0.1 t
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BI5 5 4 IE R (S4) 2 W =018 + 0.02

BEST A0 34 t=40mm b=42m| W 1 = 0.04 x 0.042 x 6.638 x 2 x 7.85 t/n3 = 0.18 t C(AMEfGAHEEE 7.8tmd) | |

BESRHEAKE| W 2 = 20 x 122 kg/m x 0.001 t/ke = 0.02 t (ke 12, 2ke/m) R
BI5 5 4 R TEA - FTED (SE41) W = BSH4 REHK M) SRLC
BG4 RIS (SF) W = BSH4 REHK M) SRLC
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A= 726 x 16.20 HAMm 08 »A  =| 1176 m2
17.6 n2
17.6 n2
17.6 n2
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